Read the passage carefully then do the activities

  
The international Labour Organization ( ILO) has estimated that 250 million children between the ages of five and fourteen work in developing countries- at least 120 million on a full time basis. Most working children in rural areas are found in agriculture; many children work as domestics; urban children work in trade and services, with fewer manufacturing and construction.

   
   Working children are the objects of extreme exploitation. They work the longest hours and are the worst paid of all labourers.  They endure work conditions which include health hazards and potential abuse.  Many of them endure lives of pure deprivation. They are deprived of the simplest joys of childhood which together with hard work hinder their physical and mental development.

       
Children work for a variety of reasons: the most important being poverty. Though children are not well paid, they still serve as major contributors to family income. They work to ensure the survival of their family and themselves.

 
  Schooling problems also contribute to child labour. Many times children seek employment simply because there is no access to schools (distance, no school at all).  When there is access, the low quality of the education often makes attendance a waste of time for the students.
                                                                               Extract from "World Bank Report"                                          
1. The text is about:

     a) Child labour                             b) children school problems                  c) education 

2. Say whether the statements are true or false.

     a) Children in urban areas work in commerce and services.

     b) Working children are paid like adult workers.

     c)  Poverty is the only cause for work for children.

3. In which paragraph is it mentioned that children are obliged to work for many reasons?

4.  Answer the following questions according to the text.

     a) What do the working children suffer from?

     b)  How can school problems contribute to child labour? 

5.Find in the text words that are closest in meaning to the following definitions.
               a) dangers §2=


b) causes§3 =
6.What nouns can be derived from the following verbs?

                  bribe       -           counterfeit             -             corrupt         -     pay 

         7. Rewrite sentence (b) so that it means the same as sentence (a).

               1-     a)  Many companies use child labourers

                        b) Child labourers…………………………………………..

                2-    a)  " We try to pass laws against child labour," the Minister said.

                     b)  The Minister said……………………………………………………………

          8. Classify the following word according to the pronunciation of their final "S".

   Domestics          -   ages     -      lives      -   times  

	       /s/
	      /z/
	     /iz/

	
	
	


  5) Fill in the gaps with the words provided

young          -     harms       -    illegal      -     Labor
                Child labor is the  work that ……(1)……..children or keeps them from attending school. Around the world and in the U. S., growing gaps between rich and poor in recent decades have forced millions of …(2)……… children  out of school and into  work. The International ……(3)……Organization estimates that 246 million children between the ages of 5 and 17 currently work under conditions that are considered……(4)…….. 






